AR o#ER —

Ee
=

=

16

47 SF45E6H23H BAr |V SER(PRARE)2ETHESR
REF | £ar9:04 HATA [BETE T AR
—_— AfL |REEER =% RE
(Mg ) | PTEE ARIARRRLANRIRHRE
AN |BERESERER|IEA MK
BT |[BIRET PR 45 HhiR ARLAE 38R FEFE AR
EF |a SR | .
AFLFEER M) AfLSmE
=55 F 1[0 %= 2[0] REZE|EESEIIEBT Fr7Eih
1 2’940’000 ;%—_*L gg%@&ﬂ%*i%ﬂ gi%fﬁ’ﬁﬁiﬁiﬁw%m
MeH #/08 |[BHBSH ERBERATH/
2 3,019,000 o ® G2 =
BHORT LB R /NER/NEEE102
3 3,900,000 Bx EmsE |BFEAC L
Mt e £RAR |[EHESH LRBERAS
4 3,080,000 PP EMEER W21
5 3,029 000 ﬁgg& SR B Eﬁiz_?mzrs%ﬁm%
6 310501000 TECAFH BRE=A LR IEETH

1%20-14-3




